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WTRK  KEREHE BT wHEELomEE| T8 FRE
1 IKRAFVRE OKFIEH) oH mg/L — -|66|72|72(68|7.7(78|70(74|73|67|75|75(68|75|75|66|73|73|67(70|74|66|7.7|77|69|78[78]|70[79|79|7.7|79|80(7.3|79(79
4 | 2 EYiEFHEBREREBOD mg/L — TP 2 [ [ 2 [ | 1| 2 [ KK 2 | KK | 2 K[X| 2 KX 2% 1]|2]|X%]|1]|X 2 [ X[ x| 1 4121
5§ 3 {EFHEERERECOD mg/L — el 22 x|[1]22x| 1|21t 111 [1v|x|2]x|[2]21[1] 1 [ 1]t [2]1[x%]1[x%x]x%|1]2]x%|1
i; 4 BWEMEESS mg/L — 20 | M M K| M K M K M M K M K M 4 KKK XK M KK 2 3 XK 4K XK X[ 3| XX
B | 5 KGEHHK L — 10 2 | 3| X[ | X K| R K K| K| K| R K R K K K| K R KK KK KK KKK KKK K| KX XX
B 6 z=angTN mg/L — 0051210111714 11[20]|15[1.2|20|14|1.4]|23[15|1.4[21|15[13|21|14(1.2]|23|15|13[25|16[1.2(28]|1.7[1.3|26[1.7|1.1|25|16[094
7 BERET-P mg/L — 0.01[0.02[0.03[{001[ 3 [ 3 [ % [ % [001| 3% | % [001 % |0.02{0.03|0.02|0.02(0.02 001/0.02| 3% [002]0.02| 3 |001[ 3 | 3 [ 3| x| % | % | % [002]|0.02[001
8 BiLA4> meg/L — {11 11|11 24| 21| 21| 24| 24| 23| 26| 23| 23|27|23|23| 16| 14| 1411|1414 14|11 |14]| 6 [11]| 6 [17| 13|11 |18|14[11]|20[11] 9
fh | 0 BRizER — — ot 17| 11|18 18| 12| 18|18 12|17 |17| 12| 18| 18| 12| 18| 18| 12| 18| 18| 12| 18| 22| 12| 20| 18| 12| 17|18 12| 15| 19| 13| 18] 21| 13|17
10 FAAFIUHE pg-TEQ/L 1T -l -l - - - e - e - - - - -
11 7ILFILKER mg/L  |BRHEEThENIE 00005 - [ = | = | - |- |- |- |-[-|-1-|-|-|-[-|-]-1-|2|>|%|[-|-|-|-|-|-|-|-[-[|%|*|>%]-]-]-
12 #a7k4R mg/L 0.0005L4F 000005 - | = | = -|-|-{-|-|-|-|-|-1-1-1-1-|-|-|%[%|[%|-[-|-[-|-|-|-|-/|-|%[x|x%|[-]|]-]-
13 ARV L mg/L 0.003LLF 00003 = [ = | =~~~ -~ -1-1-1-1-1-1-|-]-|X[X%|%|-|-|-|-|-|-|-}|-}|-|X%[|X%|>%|-]-]-
14 % meg/L 001UF 0001| - | == -|-|-[-|-1-|-1-1-1-{-1-1-|-|-/x|2[x%|-[{-|-[-|-|-/-|-/[-|x[x|x|[-]|-]-
15 AffivoL mg/L 0.024F 5] e e e e e e el e e e e e e e e e e e R A A S e e e e e e e e e A R R e e
16 Bt mg/L 001LLF 000t - | = |- -|-|-[-|-|-[-1-|-1-1-|-|-1-|-[x|x|x|[-|-|-[-|-|-/|-|-|-/[x[x]|x|-]-]-
17 £Y72 mg/L  |REThGNIE A1 e e el e e e e e e el e e e e e e e e A A A e e e e e e e e e R A A R e e
18 RYFILETT=)L mg/L  |BHEALNCE 00005| - [ - |- |- |-[-|-|-[-1-|-[-1-|-|-1-|-[-\x|x[x|-|-[-|-|-|-|-|-/|-}[|x|x|x]|-]-/|-
19 MJooOIFLY mg/L 001U 0oo1| - | == --|-[-|-1-1-1-1-1-{-1-1-/1-1-/x%|2[x|-[-|-[-|-|-/-1|-/[-/|x[x|x|[-]|-]-
20 FRSHEATFLY meg/L 001 F 0001| - | == -|-|-[-|-1-|-1-1-1-1-1-1-|-|-/x|x[x%|-[{-|-[|-|-|-/[-|-/[-|x[x|x|[-]|-]-
21 Uoynoiey mg/L 0.02LLF 0002 = | = | = - - - -1 -1-1-]--|-|-]-|-|X[%|%|-|-|-|-|-|-]|-|-}|-}|X*|>*|>%|-]|-]-
A |22 migikE mg/L 000254 T 00002| - [ - |- |- |-[-|-|-[-1-|-1-1-|-[-1-|-[-\x|x[x|-|-[-|-|-|-|-|-/|-}[|x|x|x]|-]-/|-
E 23 12->ynnT4ay mg/L 0.004LLF 00004 = [ = | ==~ -~~~ -1-1-1-1-1-|-]-[|>[X%|>%|-|-|-|-|-|-|-|-}|-|X*|X%|>%|-]-]-
B (24 11-CoopxzFLy meg/L 01T oot - | - -{--1-{-|-1-1-1-1-1-1-1-1-|-|-/x|x[x|-[-|-[-|-|-/-|-/|-|x[x|x|-]|-]-
25 12->ynnxTFLy mg/L 0.04LLF 0004 = | = | = | - |- |- - --0-1-1-1-1-1--|-|-[|2|2|%|-|-|-|-|-|-|-]-]-|>|>%|%|-]-]-
26 1,1,1-k)yO0ITAY meg/L 1T 0005| - | = - | -|-|-[-|-1-|-1-1-1-{-1-1-/-|-/x|x[x%|-[{-|-[-|-|-/[-|-/[-|x[x|x|[-]|-]-
27 1,12-k)pO0ITARY mg/L 0.006 L F 00006 - [ - | - -|-|-[-|-[-|-|-1-1-1-1-{-|-[-|/x[%[x|-|-|-[-|-|-/|-|-/-}|x[x]|x|[-]-]-
28 1,3->yonraxy mg/L 0.002LLF 00002 = [ = | =| |- -|-|-{-|--1-1--|-{--[-|®%|x%[%]|-|-|-[-|-|-|-|-|-|%[x%]|%|]-]-]-
29 F oI L mg/L 0.006 T 00006 = [ = | = |~~~ -~ -|-|-1-1-1-|-]-[|X[X|%|-|-|-|-|-|-|-|-}|-|X*|>%|>%|-]-]-
30 LTV mg/L 0.003LLF 00003 - [ = | = | - |- |- |- |- - -1-|-|-|-{-[-|-1-|>|>|x%x|-|[-|-|-|-|-|-|-[-[|x%|x|>x]-|-]-
31 FARUALT mg/L 0.024F 0002 - | = |- |- |- |- [ - -|-01--1-{-|-[- |- |- %|%X[%|-|-|-[-|-|-|-|-|-|X[%]|x|]-]-]-
32 Ru¥y meg/L 001U F 0001| - | == -|-|-[-|-1-|-1-1-1-1-1-1-|-|-/x|x[x%|-[{-|-[|-|-|-/[-|-/-|x[x|x|[-]|-]-
33 LY mg/L 001 0001 = | = [ = | - |- |- [~ -|-|-{--1-{-| -~ -] -%|X[%|-|-|-[-|-|-|-|-|-|X[%]|x|]-]-]-
34 14-OA X4y mg/L 0.05LLF 0005 - | - | - | - |- |- [-|-|-|-|-|[-{-[-01-1-1-01-0/-0l-0{-01-1-1-|-|-[-[-|-|-|>|>|x|-|-]-
35 yOAIFLY mg/L 0,002 F 00002 - [ -|-|-|-1-[-|-{-1-1-1-1-01-1-{-1-1-1-1-/-1-\-01-"{-1-01-/-1-/-}|x[x]|x|[-]|-]-
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